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1) Identify the major contribution to happiness 

a) Having a regular recreation 

b) Attaining a goal per day 

c) Leading a meaning full life 

d) Leading the net life style 

 

2) Now a day’s organization are emphasizing more on which type of growth 

a) Straight  

b) Horizontal 

c) vertical 

d)lateral 

 

3) If the individual has no concern of the political activities that who is being 

elected in the election 

a) Apathy 

b) Compassion 

c) Empathy 

d) Passivity 

 

4) A gross deficiency in any one   sphere detracts from 

a)happiness 

b) Satisfaction 

c) Direction 

d)agreement 
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5) Following are key component of new model of career advancement except 

a) Emphasis on horizontal growth and learning new skill 

b) Emphasis on vertical growth and sharpening existing skill 

c) Emphasis on the short term leadership assignment 

d) Empahsing on learning ability for the most recants skill 

 

6) Love is an experience seated in the non rational side of the brain identify 

theory 

a) Balance theory 

b) Need for intimacy theory 

c) Biochemical theory 

d) Social exchange theory 

 

7) -------------------- is the feeling of discomfort it arises when an individual is 

not working 

a)perfectionism 

b) Work holism 

c) Professionalism 

d) Idealism 

 

8) ----------- can help an individual to improve his productivity by directing in 

activities 

a)goals and value 

b) Action plan 

c) Values and ethics 

Download More Quizzes Files From 

VUAnswer.com

Download More Quizzes Files From 

VUAnswer.com



 

d) Mission statement 

 

 

 

 

 

9) All of the following are the factors help to control external environment 

except 

a) Avoid broad experience 

b) Your gesture project self assurance 

c) Performance is the indicator of potential 

d) Make positive assertion 

 

10) ali faces so many conflict because he never  

a) Interact face to face 

b) Give feedback 

c) define the real problem 

d) Listen carefully 

 

11)  the most important investment vehicles are 

a) Common stock 

b) Index funds 

c) Treasury security 

d) Stock mutual funds 

 

12) A special code of behavior required in work setting is called  

a) Business etiquette 

b) Conventional behavior 

c) Rule and regulation  

D) Ethics 
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13) Which types of skill are more likely to be bypassed by promotion or 

termination of an individual in the organization? 

a) Analytical 

b) Mechanical 

c) Interpersonal 

d) Intrapersonal 

 

14) As a result of reengineering work processes are 

a) Restricted by computer programs 

b) Radically redesigned   and simplified 

c)  made more complex 

d) Turned over to outside companies 

 

15) An individual should always take one spouse in confidence in  

a) Liking disliking 

b) Priorities 

c) Personal interest 

d) Decision making 

 

16) You tell yourself that if you try again something terrible will happen which 

term is used to depict above saying 

a) Career boomerang 

b) Career portability 

c) Risk taking 

d) Fear narrative 
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17) An illness which exist in the mind and therefore the cure and prevention 

lies    with trading the mind called  

a) Misfortune 

b) Anxiety 

c) Tension 

d) Depression 

 

18) Happiness occur when 

a) Various component of life work together  

b) When brain support 

c)a person has at least six spheres of life 

d) Six spheres of life are spinning 

 

19) Which one of the following is NOT a reason that people procrastinate 

a)  Overwhelming 

b) Unpleasant task 

c) To get more money 

d) Fear of success  

 

20) Hamna frequently identify opportunities and act until she  bring about 

change ,which type of personality she is 

a) Inner directed 

b)  Proactive 

c)  Type A 

d) Type B 
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21) Kaizen approach improve daily processes of the organization it include all 

EXCEPT 

a) Increasing productivity 

b) Humanizing the workplace 

c) Anticipating opportunity 

d) Eliminating over hard work 

 

22) The difference btw your-----------and total expenses are the true profit from 

your labore 

a) Additional benefits 

b) Saving 

c) Investment 

d) Net income 

 

23) Attain the twin goals organization rewards and personal satisfaction shows 

a) Career success 

b) Organization success 

c) Personal success 

d) Success  

 

24) The government offers different types of secure investment to pubkic 

including 

a) Defense saving certificate 

b) All 

c) Treasury notes 

d) Bonds 
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25)  Directing your ------------ in positive direction will enhance your 

happiness 

a) Thinking 

b) Mood 

c) Present moment 

d) Past moment. 

 

26) Which one of the following is NOT the suggested technique for reducing 

procrastination? 

a) Don’t commit to others 

b) Follow the WIFO PRINCIPLE 

c) Express a more positive attitude about your intension 

d) Motivate yourself with rewards and punished 

 

27) Which one the following is NOT the reason of over spending mony? 

a)  Shop keeper is friendly 

b) Enjoy shopping 

c) Having a long term debt 

d) Credit is accessible easily  

 

28) Enjoy what you have don’t spoil your life by craving for what you don’t 

have depict your  

a) Feeling 

b) Expression 

c) Disposition 

d) Mood 
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29) which of the feeling can harm relation of two income family 

a) Passively 

b) Compromising 

c) Arguing 

d) Competitiveness 

 

30) if somebody happen to meet accident on road nobody brther to to stop 

shows 

a) Group apathy 

b) Private apathy 

c) Public apathy 

d) Social apathy 

 

31) Multitasking is most effective when an individual is  

a) Performing routine task  

b) Obeying official authority keenly 

c) Driving to and from work 

d) Performing major task first  

 

32) Two key element of a personal financial plan are ----------- and budget  

a) Funds  

b) Financial goals 

c) Mission Statement 

d) Capital 

 

33) All of the following are the key point of creative approach in job EXCEPT 

a) Complaints always  

b) Emphasis on creative problem solving  

c) Innovative suggestion 

d) Take initiative 
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34)  Cyber networking include  

a) ALL 

b)  Chat room and email 

c) MAILING SMS 

d) Newsgroup 

 

35) Work smarter not ---------------- is a modern approach to work that required 

you to spend a few minutes planning how to implement your task 

 

a) Later 

b) Harder 

c) Quicker  

d) Faster 

 

36) Debates on media have become an integral part of 

a) Sport industry  

b) Capital industry 

c) Entertainment industry 

d) Economical industry  

  

37)  An invisible but difficult to penetrate barrier to promotion 

Based on subtle attitudes and prejudices are called 

a) Inclination 

b) Predisposition 

c) Preconception   

d) Glass ceiling  
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38)  Owning an asset is 

a) Diversify investment 

b) Equity investment 

c) Contrary investment 

d) Fixed income investment 

 

39) sobia should try to rake remedial measure to address the issue of 

apathy through  

a) Enjoy activities 

b) Physical exercise  

c) Get organized 

d) All of above  

 

40) Share of ownership in the corporation by selling and buying 

universal stocks is called  

a) Stock price 

b) Stock market 

c) Stock exchange 

d) Common stock 
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If anyone wrong please correct and inform others thanks 

 

 

 



 

 


